N = 0l & At & Ml A

20148 = 20 AH LBt H DA
2N WEANSI
HE: BASSHN 7S
Sl XIS oA CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
mESPcE=ani3 12,441,700 9,593,274 2,848,426
= 20,000
2 1,710,000
J| 174,360
= 1,478,142
Al 9,059,198
ZMESHM 25 4,953,548 4,731,055 222,493
= 20,000
= 1,256,265
Al 3,677,283
X oIk 4,718,259 4,495,406 222,853
& 1,256,265
Al 3,461,994
EsEALS X~ 1,543,300 1,095, 184 448,116
202 044l 4,800 0 4,800
01 2L I 4,800 0 4,800
OoMLH Y2 =R 4,800
OITHA R =X 04 H| 2,300
GRS 29 FF0Y 1,500
MNeEl Aast 2 =& | 1,000
203 €2 F=&d| 4,000 0 4,000
03 Al ZHF=X AR = XH| 4,000 0 4,000
(@FNE=PNRNELESPN] 4,000
306 23 1,534,500 1,095, 184 439,316
01 52 1,534,500 1,095, 184 439,316
O Fs&set o 700,000
O YA THLE L ALS 450,000
O &8 90 EXWAF XA 384,500
S =a=1ami 18,000,000& *9H 162,000
ESpnE=3=1am) 44,500,000 x5 222,500
HSIAIG X R (EX) 211,351 0 211,351
& 44 500
Al 166,851
306 223 211,351 0 211,351
== 44,500
Al 166,851
01 52 211,351 0 211,351
O 9HEXZDAF X (29) 89,000
= 44 500
Al 44 500
OZ22Y L (HE2THELTHE) AHIEE
= 122,351
WEHA HSAFS 201,387 2,941,222 N2,739,835




2N WEANSI

M HMSESHM 25

Sl XY eI CERED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
306 52 137,500 1,068, 100 A 930,600
012 137,500 1,068, 100 A 930,600

OditsE =252 ssua 14 137,500
307 QI2t0| & 30,000 50,000 A 20,000
02 QA AMNEXZ 30,000 50,000 A 20,000
OXela Ay HAZS 29 30,000
308 XHXIEHSO|IA 33,887 1,823,122 N 1,789,235
06 It X2 33,887 1,823,122 N 1,789,235
Os&Esy AN (DSstn) 33,887
WEHAHMEAIL (EX) 2,762,221 0 2,762,221
& 1,211,765
Al 1,550,456
306 52 892,200 0 892,200
= 284,060
Al 608, 140
012 892,200 0 892,200
O OSSO0l SHAIY(Es W) 140,000
= 42,000
Al 98,000
O S0 SHAIY(DsEstn) 380,000
= 114,000
Al 266,000
O Nds20F 852 8 4 70,000
= 21,000
Al 49,000
O E4d3t] HAEFHAY 82,000
& 41,000
Al 41,000
O Jls8g DWiE 220,200
= 66,060
Al 154,140
308 AMXISHMSOIA 1,870,021 0 1,870,021
= 927,705
Al 942,316
06 B=J|&0tistEx2 1,870,021 0 1,870,021
OstnPAaZAl X&) (x,sst0) 1,638,512
& 819,256
Al 819,256
O &AM st FA I 221,509
o 98,449
Al 123,060
O WESSHHINEAIG (KExD) 10,000
& 10,000
TMSSTA JBRE 205,489 189,349 16, 140
2 20,000
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2H: DEASD
Ha: BMSSHE 75
Sol: WMSISTAl RS

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 2,000 2,000 0
05 HXSHMARE = 2,000 2,000 0
OF= YIS Al E935 34l
2,000,000& x13l 2,000
405 TtobH S 9,400 5,000 4,400
01 AL EZFH S 9,400 5,000 4,400
OFIIBIE(HE2LII7Y) 9,400,000 1Al 9,400
HMESECAEZL(BE) 26,000 0 26,000
= 20,000
Al 6,000
301 et a = 26,000 0 26,000
= 20,000
Al 6,000
IARPIS =S = 26,000 0 26,000
Odo2oluE XJ3AMY ZA=E 26,000
= 20,000
Al 6,000
F QXX Jlgr2 st 29,800 46,300 A 16,500
XA 2 29,800 46,300 A 16,500
201 Let24dH] 11,800 11,800 0
01 At 2teltl 11,800 11,800 0
OXXAIZY T2 ZAE 9,500
OXNXIAIZE Z208 29| 2,000
OXXAZEE HR=E Sl 300
301 et d = 10,000 10,000 0
09 SALAHIEAS 10,000 10,000 0
OXNXAIHY T2 L AE MAF 7,000
OFXXHH &3 &2 50,000& »60H 3,000
405 XtatE SHI 8,000 24,500 A 16,500
01 HatH ESFH S 8,000 24,500 A 16,500
OXXIAZE 25 F& 2,000,000 =44 &l & 8,000
s 243 6,737,719 4,103, 147 2,634,572
& 1,710,000
J| 174,360
< 221,877
Al 4,631,482
HEHE =4 440,530 373,500 67,030
J| 174,360
< 48,877
Al 217,293
MBS 2H(EX) 29,600 32,200 A 2,600
S 8,880




2N

X{ XH -
S =

£

ME=PrE=m);
s g8483

: /\H sl» X‘” j?‘.-

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 20,720
307 QI2t01 & 29,600 32,200 A 2,600
< 8,880
Al 20,720
02 A2tAMNE XS 29,600 32,200 A 2,600
O MeEdsnse 29 29,600
= 8,880
Al 20,720
MEBHSR S BHXIASE(EX) 145,728 132,480 13,248
J| 72,864
Al 72,864
307 212t0| & 145,728 132,480 13,248
J| 72,864
Al 72,864
02 QI2tAAMSE X2 145,728 132,480 13,248
O MeEtds L8t X=X 81X 145,728
J| 72,864
Al 72,864
024 HMIEE NAAY(EE) 97,152 44,160 52,992
J| 48,576
Al 48 576
307 2iz2to| & 97,152 44,160 52,992
J| 48,576
Al 48,576
02 QIZ2tAAE X2 97,152 44160 52,992
O E4A MEMFX X UK 97,152
J| 48 576
Al 48 576
MEHEDA 29 6,000 23,700 A17,700
301 et A= 6,000 21,700 A 15,700
TEEE 6,000 21,700 A 15,700
OstHE MEuwa 29
500,000 x2 6 & 6,000
MEYEDASRI(EX) 21,900 0 21,900
& 4,775
Al 17,125
301 LBt A= 21,900 0 21,900
& 4,775
Al 17,125
11 JIEtE A= 21,900 0 21,900
OZHXNEX 29 21,900
& 4,775
Al 17,125
Sad EJ1WA 2H(EX) 8,400 8,400 0
= 2,470




25 DEMESH
HH: N=s 243

ool MEIS S4 (el @2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 5,930
307 21201 A 8,400 8,400 0
< 2,470
Al 5,930
02 I AEXS 8,400 8,400 0
ORad E2ud 29 8,400
< 2,470
Al 5,930
MEHs S350 2l A(BX) 44,000 44,000 0
= 13,200
Al 30,800
307 Qiz2tol & 44,000 44,000 0
= 13,200
Al 30,800
02 QIZtFAE XS 44,000 44,000 0
OdENs 32 =221 44,000
< 13,200
Al 30,800
AZXHIRH AIBAISE(EX) 87,750 88,560 A810
| 52,920
< 19,552
Al 15,278
301 LEtE A= 87,750 88,560 A810
| 52,920
< 19,552
Al 15,278
01 MEIBEZE 05z 87,750 88,560 A810
O Hgol sotna =29 3,600
= 2,655
Al 945
O & S0t 843t At 8,550
< 5,557
Al 2,993
O AZ=2H 01EA AL 75,600
J| 52,920
< 11,340
Al 11,340
M=gA OHxl 2 XA 1,153,874 1,141,874 12,000
AL 29 X 217,800 942,500 AT24,700
201 et 4,500 29,500 A 25,000
01 At 221l 4,500 4,500 0
OMSEAXE B2 =2l 2,500
OAxZdHA E2=2 M 1,500
OMexzwa S8I|J|=el 250,000& »23] 500
202 odl 3,900 5,000 A 1,100




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2LHOHI 3,900 5,000 A 1,100
ONMEEA A=A 3,900
301 dEtE A= 1,400 1,000 400
09 HAIAHIBAZ 1,400 1,000 400
OMESEA HJASAMI =AY
7,000& x50 x4 3] 1,400
307 QI2t0| ™ 208,000 907,000 A 699,000
02 0IABAELS 208,000 207,000 1,000
OMet=c0M=Us SN 150,000
OX=EHMAUM=UE =X 14,000
Od=9M0tetEUS SN 10,000
OFSEXA HaA2Us eI
ERSPDNRE] 5,000
O&= & T2 MUz X 10,000
o433 Zexdsias s=8XA 9,000
O2EHN 43 MEgmz)d 29 10,000
HS&A &It 30,900 29,400 1,500
301 dEtEAZ 30,900 29,400 1,500
09 HALAHIEA = 30,900 29,400 1,500
OX=2 MsUE &It 4,500
O M=sUtal &It 4,500
O&= L T2 HOIEE2U L 3835 &It
40,0003 *63| x20H 4,800
OZXAD HEE MENSUI &It 3,600
HAEUE 40,0003 *10Y 585 5 2,000
IIES0tY MU 40,000R 88U +x5E =S 1,600
Osadsz2wa L 2E0F2SUE &It 4,000
OXOe MEXH=UE &It 1,000
OXEOMe M=ta &HIHXNM,s0I2 S) 6,000
OAE FZ0oHe AU =t
50,000& 109 *53] 2,500
MM K& 183,174 169,974 13,200
307 QI2t0| ™ 178,174 164,974 13,200
02 DI2HFAMEXS 178,174 164,974 13,200
OZ&A MEe3 29X 117,200
O&e MEe3s 29X 36,000
OFLH HOHQ MSXSXH HHX (OHE AFY) 24,974
402 QI2F X 20| & 5,000 5,000 0
01 It x 5,000 5,000 0
O&e Ms&Y X 5,000
HSHA A& 15,000 0 15,000




K- EH3 B (3H) - HSAY - Ba2 il HDS2
201 et A | 15,000 15,000
03 S AIS H I 15,000 15,000

OMS# ALK A 15,000
HXESA AKX L AL B 15,000 15,000

307 QI2t0| M 15,000 15,000

02 DI2HFAMEXZ 15,000 15,000
O&XEdd AKX L SHAILBHX A 15,000
SAANEE A= 20U 30,000 30,000

307 QI2t0| M 30,000 30,000

04 A2tHAIE XS 30,000 30,000
O3 A& H2238 =2 =03 30,000

= 5392 HLUA U3 15,000 15,000
307 212t01 & 15,000 15,000
04 QIZ2tSHALE X 2 15,000 15,000

O2014d =82 8= SSAHUA U3 15,000
=2 203 40,000 40,000

307 212t01 & 40,000 40,000

04 CIZtSHAIE = = 40,000 40,000
OHMB9sl 8= 23 40,000

S = BHEQE 3 20,000 20,000
307 QI2t0| M 20,000 20,000
04 CIZtSHAIE == 20,000 20,000

OM73 =&t 8= HEUEHUHS 20,000
D20LLE =M S4B IIU3 205,000 205,000

307 212t01 & 205,000 205,000

04 A2tHAIE X S 205,000 205,000
02014 Zelol LE 2 HEHBIIHI(EA
2E &etd o3|, 012t E) 205,000

DIMEIsE 2 RA4AE FS2U3 70,000 70,000
307 QI2t0| ™ 70,000 70,000
04 CIZtSHAIE == 70,000 70,000

OZ0MENE M2 Ra4E S2US 70,000
HA SE6dA U 70,000 70,000

307 212t01 & 70,000 70,000

04 A2tHAIE X S 70,000 70,000
02014 HIA ZEMHLAAHE(O4S, L) 70,000
AEI d= &3 15,000 15,000




2N nEMs
3 s 243

el MM OHE ¥ XS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 15,000 0 15,000
04 RQIZIHAIE RS 15,000 0 15,000
OHM7a ANEI d= S§3203 15,000
SAMUEIE 2EUH3E 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 BIZHHAIE RS 30,000 0 30,000
ozhuttallg 2=isl 30,000
&85 0l= HIUA Hel 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 RIZIHAIE X S 5,000 0 5,000
020144 8= Olz=HILIA THE 5,000
MBS FI| LISNEUS £ 3 NE 82 20,000 0 20,000
3
307 21201 A 20,000 0 20,000
04 BIZHHAIE RS 20,000 0 20,000
OHM29al MZB&<aA&I LEMNEUH L 2014
23 NE2 dgiisl 20,000
A= Jdet2& =Zis 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 BIZHHAIE XS 5,000 0 5,000
02014 AIEH &= dcet2& =Zis 5,000
Alglster HM=stote 80,000 0 80,000
307 21201 A 80,000 0 80,000
04 QIZIHAtE X S 80,000 0 80,000
020143 Al2leter M=sstore 80,000
848 20 & D2SHIAE 2A=4U= 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 RIZHHAIE X S 10,000 0 10,000
020148 HS R0 & M93l I 2IAHIAE 2=
A3l 10,000
g2AEI] AU AU 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 RIZIHAIE X S 5,000 0 5,000
OHM11z A& AU SE 5,000
Hdet=EE AlZHES 203l 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 RIZHHAIE RS 10,000 0 10,000
Odet=E AlIZ2HEsl sl 10,000




2N nEMs
3 s 243

el MM OHE ¥ XS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g3 =& &= Ott=EUE 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZtHAIE X = 20,000 0 20,000
02014 S E& &= OtetEUE 20,000
ANZEI =303 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 BIZHHAIE RS 10,000 0 10,000
OAEI =203 10,000
ANZEI ERUE 6,000 0 6,000
307 21201 A 6,000 0 6,000
04 QIHAIE RS 6,000 0 6,000
OAZEI E2U3 6,000
ANEI =diz 6,000 0 6,000
307 gl2tol & 6,000 0 6,000
04 QIZtHAIE X = 6,000 0 6,000
OAZEIl =3l 6,000
AMEI BHEQIE WS 7,000 0 7,000
307 glz2tol & 7,000 0 7,000
04 QIZtHAIE XS 7,000 0 7,000
OAZI| BHEQIE S 7,000
ANEI| OFRTHE 6,000 0 6,000
307 21201 A 6,000 0 6,000
04 BIZtHAIE XS 6,000 0 6,000
OAIEIl ok &l 6,000
AMEI BHHAEW = 7,000 0 7,000
307 21201 A 7,000 0 7,000
04 QIZHHAIE = 7,000 0 7,000
OAZEIl BHHE U3 7,000
AFFIR 29 277,000 273,000 4,000
< 28,000
Al 249,000
AFHIR(SY) 2 NA(EX) 277,000 273,000 4,000
= 28,000
Al 249,000
301 et d = 277,000 273,000 4,000
< 28,000
Al 249,000
Vo=t - 2S2S243 277,000 273,000 4,000
O HFAIR(24) 29 277,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 28,000
Al 249,000
HFIIBLAIE &= 4,866,315 2,314,773 2,551,542
2 1,710,000
< 145,000
Al 3,011,315
=83 =33 23T Y 16,790 400,000 A 383,210
201 LBt ]| 16,790 0 16,790
02 2224 H| 16,790 0 16,790
OFEEIUSHERE B3olx=% |AQX} 222
16,790,000 = 14! 16,790
ZSBHESZE2H SEXTH(EX) 2,400,000 0 2,400,000
2 1,000,000
Al 1,400,000
401 AIEHIZL 2 0HY| 2,400,000 0 2,400,000
2 1,000,000
Al 1,400,000
01 Al&H| 2,391,360 0 2,391,360
OF&2 USHERE LAY
2,400,000, 0002 x99.64% 2,391,360
2 1,000,000
Al 1,391,360
03 AlE 201 Y| 8,640 0 8,640
OF&Z2 USHEHIPE LAY
2,400,000,000& x0.36% 8,640
MSAM X8 2 Fy| 222,000 1,577,000 1,355,000
401 AlEHIZL 201 Y| 115,000 1,520,000 A 1,405,000
01 Al&H| 114,298 1,518,074 N 1,403,776
Onts&9 M= &AxX 50,000
O2sM=dH 2s& &0 B3 A
15,000, 000 x98.92% 14,838
O23M= A4 &b 30,000,000 *98.92% 29,676
Os&9 M=sAAE A
20,000,000 *98.92% 19,784
03 Al&E 201 Y| 702 1,926 N 1,224
OZ2Z2H=AI4 HH| 30,000,000& x1.08% 324
Ont=&< M=AIAE &HHl 20,000,000 *1.08% 216
O=2SM=HEH 28 &0 B2 A
15,000, 000& *1.08% 162
402 SI2FXHE0| & 107,000 57,000 50,000
01 QI2tXE8 X 107,000 57,000 50,000
OFHHUAX ZHAH WA 60,000
OxNE FXE MEANE & 10,000
Okeds MEENIE MEAE &K 10,000




2N nEMs
3 s 243

S MFIALE &5 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Os&s 30t MEAd &X 10,000
OALOH S&I0tES MEAIE &X 12,000
okLe 28 MEAN4E &X 5,000
MSAE =4 2 FH(BX) 1,225,000 0 1,225,000
= 360,000
< 145,000
Al 720,000
401 Al BIZ 201 8] 1,200,000 0 1,200,000
& 360,000
< 120,000
Al 720,000
01 A& HI 1,195,680 0 1,195,680
O SHHSAE ZHA
1,200,000, 000& *99.64% 1,195,680
= 360,000
< 120,000
Al 715,680
03 Al =2 THHI 4,320 0 4,320
O SUMSAIE THAL
1,200,000, 000& 0. 36% 4,320
402 RIZ2HXt20l 25,000 0 25,000
< 25,000
01 IZEAI 22X 25,000 0 25,000
O 2X zdote 2217 &% 15,000
< 15,000
O e 30t 23217 &X 10,000
< 10,000
HEALEE SR 22 323,515 310,063 13,452
101 @144 dl 32,084 26,388 5,696
4 D12t ZE2XREES 32,084 26,388 5,696
Ozg=l=3d &xHA
41,680& +0.27/100m" x50,623 M 23| 11,394
Ozg=d=ssd oAl
60,540& *0.09/100m" x50,623 M 23| 5,517
OZ2Z2MSAME=ES M= 41,6803 +10H +43] 1,668
OSZ3HSAEE 23+ dX&Y
60,5403 «10H 23] 1,211
OFstdsdH=8H Zx=HA
41,6803 «10H +323] 1,251
OFstdsdEH=8 ZCI2D|
60,540& x0.27/100m x7,000 M *23] 2,289
O23MSHEH A AR 41,6803 602 2,501
OFESE=HEIE F4 =AUR
41,6803 60 2,501
OnAL=EHE = MA
41,6803 15 63 3,752

_12_
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2N nEMs
3 s 243

el MIINIBALE &5 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 MHZ 8l 11,690 11,190 500
OFEg=H=32 2 MsdH, A24AEH S|
& M4l 11,690
HIE e 1000W 100,000 =154 1,500
&= 250W 30, 000& =504 1,500
Ol &&= 400W 50,000 =304 1,500
HE+E Il 250W 30,0002 =304 900
HIEetE Il 400W 50,000 *20K 1,000
HE+E Il 1000W 100,000& =104 1,000
JIEH &I XHH 1,500
SEgH =z 15,000& *30% *33l 1,350
aF, 2Z2H 12,000 x2Z5 *15H 43| 1,440
307 glz2+ol & 12,300 11,100 1,200
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